What are the three elements required to occur a fire?

(A) Heat, Water, Fuel (B) Heat, Oil, Fire

(C) Heat, Fuel, Oxygen (D) Heat, Fuel, CO2

& erfleugm@ Casemeuwimar epenmy eLpev 16l LIT(HL_&eT 6Teimes?

(A)  Qeutsub, Bir, erflGummer (B)  Qeutiub, erewrGlemry, &

(©)  Qeutiub, erfl@umpar, < &edlsgen D) GQeuiuw, erfl@umgrar, CO,

What is the fourth element of fire?

(A) Heat (B) Chain Reaction
(C)  Fuel (D) Oxygen
crflgadler prenamoug) eTeGloeL eretmen?

A  Qeuliud (B) Qgrrelener
(C)  erflQummer D)  sedlgen

What is the minimum percentage of oxygen is required to continue the combustion?

A 10% B) 12%
© 15% D) 16%
& erfleus @ @b HeTey GoameuliL(BLD &edlmeT ereueieme?
A 10% B) 12%
© 15% D) 16%

Which one of the following fuel is in the gaseous state?

(A) Wood (B) Paint

(C)  Plastic (D) Butane
Yletreu (meuemeummieT 6Thg erfGummaT eumu] lencoudled 2 crerg)?

A)  wpb B) Quuiemr
(C)  Yermevigs D) Gy GLer

Which one of the following is the heat source for ignition of fire?

(A) Compression of Gases (B) Electrical Energy
(C)  Chemical action D) ), (B)and (C)
19 6tTeu (HeUETEUHMIET LIHMEneUsHs STTenTons @) (h&EW Cleulil gD eTemen?
Q) SiWsd meussiulL ey B) Wergny s&4)
©  Cagefloa D @), B) wppi> (©)
3 029/DM/18
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6. Which one of the following is not the solid fuel?

(A) Coal (B) Cork
(C) Varnish (D) Wax
Epsarteuddled ergl S erfGummeT e ?
A)  Hessh B) Caris
(©) anmaiey D) Coeusdev
7. Select the balance equation?
@) H,+Cl, > H,(CI B) H,+Cl, > HCIl,
() H,+Cl, »>2HCI] D) H,+Cl, »2H,CI
sflwrer gwerum’_ el Caire Clguigs?
@& H,+Cl, > H,CI (B) H, +Cl, » HCl,
() H,+Cl, »2HCI] D) H, +Cl, »2H,CI
8. What are the two types of gas flow?

(A) Laminar flow and Straight flow
(B) Laminar flow and Jet flow

(C)  Turbulent flow and Straight flow
D) Turbulent flow and Laminar flow
Uy @l L SSlem @Qreanr(h eUenSS6T Wng)?

A)  CGewlert gl L b (1) Crmer gL L Lb
B)  GewlemT gl L 1b (10) Glagl_ g’ L 1d

(C)  Liyemem gl Lib (o) CHymar gl L ib

(D)  Liyerenr el 1b (o) GevidlerT gar’ L Lb

9. What are the two types of flame?
(A)  Premixed flame, Control flame
(B)  Diffuser flame, Premixed flame
(C)  Premixed flame, Controlled flame
(D) Diffuser flame, Controlled flame
@ \reuT(H UESWITET o oLICETLDSET eTeme?
A) Ufb&e® o LLGemd, sarrl_Grmed «oL1GermDd
B) et lCarb, LfBlGa (), o LGarDd
(C)  Ufb&ev® o-L1Gemd, sarl_Crmad () o -LIGarLd

D) e LGerbd, saTl_Grmed ([ «.L1GerDd
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10.

11.

12.

13.

14.

What is the flammability limit of acetylene?

(A) 10-80% B) 20-80%
C)  5-80% (D)  2.5-80%
L eSlan cumuyellen SLLIHMID GUILDLY GTebTen?

(A)  10-80% (B) 20-80%
(C) 5-80% (D) 2.5-80%

Which type of Extinguisher is used metal fire?

(A) Foam (B) Water
(C) Tec D) CO2

> Gaonags & ellLisms Siamaméss LWETLHLD SWwenemTLime?
(A may B) B

©) Qs (D) CO:

What is temperature of show in COz Extinguisher?

A  -89°C (B) -79°C
(C) -85°C (D) -70°C
COz cuans Swenantliumenser Qawau@b Curg 2 (eun@b Geuliublane eremer?
A -89°C B) -79°C
(C) -85°C (D) -70°C

For running fuel fires which medium is must use full?

(A) Water B) COq

(C)  Foam (D) Dry powder
Quiri@ Hlenaoufley 2 e erfl@ummET & llLISHHE LwaTLOSSHIUT ) 6T81?
A) B B) CO:

©) mery (D) o2 eimomey

What is the capacity of COz in CO2 Extinguisher?

(A)  3/4 (B) 2/3
© 12 D) 1/4
COz cuamas Swamentiiumensafley CO2—arm 2iemey ereme?
A  3/4 B) 2/3
©) 12 D) 1/4
5 029/DM/18
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15. Total Weight of fully charged extinguisher should not exceed?

A) 23Kg B) 21Kg
(C) 24Kg (D) 20Kg
pewwrs Briutiul L Sueamenriureien el aTHHE HHHOTES Q) (HEsdm L Tg)?
(A) 2344 B) 2144
C) 2444 (D) 20 H4

16. What is the frequency of extinguisher inspection preferably?

(A) 6 month once (B) Monthly once

(C) 2 month once (D) 4 month once
SwenentliLimer ey QEiwlinL Gouamiy U &Ted 6T6 6Teren?

@A) 6 wrssdhe emwan (B)  wrsd gmepeop

©)  2wrEsdDE RHP®D D) 4 wresdbE @

17. 3 Kg or 3 Liter extinguisher should be fitted with a discharge hose and nozzle the length of
which should be?

(A) Not less than 60% of extinguisher body

(B)  Not less than 50% of extinguisher body

(C)  Not less than 70% of extinguisher body

(D)  Not less than 80% of extinguisher body

3 S (1) 3 AL Qsmererere| Qamenr SwienanriiLimerseilen CeualGLDmILD GLTL WHMID PSS,
S|6T6 eTeLaUeTe @)(HEHE Ceuemt(HLb?

A) Sweariurafler Bersd @ 60% @Gepwimoe @) H&s Ceuer(HLd

B)  Sweariurafer BarsdH@ 50% @epwmoe @) Hés Ceusr(HLd

C) Swevanriurafler Sersd @ 70% @evpwimoe @) &s Ceuer(HLd

D) Swevariurafer Barsd @ 80% @epwmoe @) s Ceusmr(HLd

18. What is the colour of Halon Extinguisher?

(A) Signal Red (B) Pale Cream
(C)  Emerald Green (D) Black
Canever SwienantiiLimeien HimLd eTeimen?

A)  Qsered Qi (B) CGue &fib
(C)  erbgmevLl &ifer D) smuy

029/DM/18 6



19.

20.

21.

22.

What is the period of test discharge intervals of all type extinguishers?

(A)  5-10 years (B) 10-15 years

(C)  2-10 years (D) 4-20 years

SIS U SLienanT ILMes@hs @D CeualGupn Corsaanssrar sre @a Gleuaf ererean?
A)  5-10 ey ser (B) 10-15 gy er(hser

©)  2-10 yer(haer D) 4-20 <y e@rHFer

Foam is basically produced in how many ways?

@A) 3 B) 2
© 4 D) 5
BT THSET eUan&S6ted 2 HLGE CFwiLhEHng)?

@A) 3 B) 2
© 4 D) 5

Suction hose is designed to resist

(A)  Internal Pressure (B) External Pressure
(C) (A and (B) (D) Heat

o Hlghe GLomi T AiE@D aumsid aulg el &S ILL (ETars).
A) 26T WESD B)  Geuefl @ipssd

© (&) wppid (B) D) Qe

Three standard size of suction hoses are
(A) 75 mm, 100 mm, 140 mm

(B) 100 mm, 150 mm, 200 mm

(C) 100 mm, 125 mm, 150 mm

D) 100 mm, 150 mm, 175 mm

2_Mlepa @migafler eperm Hlenauimer jeTe]
(A) 75 mm, 100 mm, 140 mm

B) 100 mm, 150 mm, 200 mm

(C) 100 mm, 125 mm, 150 mm

(D) 100 mm, 150 mm, 175 mm

7 029/DM/18
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23. Which is not correct?

(A)  “Soft Suction” is the term used for ordinary lay flat hose

(B)  “Soft Suction” is usually fed into a breeching head fitted onto the suction connection of
the pump
(C)  “Suction hose” is usually called “hard suction”

(D)  Suction hose is designed to work in a temperature range between —15°C and 65°C

SAIMTETG| 6TGI?

(A) gl gsagen erenn CQerh@mm i grgryent Bredll( @wruiamer GH&EL0

B)  enlll sHegen ereLg  Fdegern  @Qevandslul (Deter LbGer  AFFAm  Capl o e
QuUrBSSILL g (B GLD

(C)  g&ager Canmev anil F&ag6lm 6Tem AMLPSEILIHEDS)

(D)  ssagen Gaprev —15°C womid 65°C-&@ Qe Ul Geuliuflaauilsd @QusEn euamsudle

QUG- GUENLD&SLILIL_(DETETS)

24, Two most common hose reel hose couplings are
(A) Hermaphrodite coupling, Macdonald coupling
(B)  Male coupling, Female coupling
(C) Instantaneous coupling, Delivery hose coupling
(D)  Suction hose coupling, Delivery hose coupling
Qurgieurs @Qrearr(h gav f6) e G aaT IS eTeneu?
Q)  Qmursiear Q@earr b, GwstlLmarme(H @aenriid
B) e @eveniidl, CueT @enewriidl
(C)  oLang @aenriq, Biel (@M @eaenriq
D) B2 déps @pri Qaenr g, Brel(@wmi Genewr i

25. In hand controlled branch, Gilmat 750 (plate 4) the optimum working pressure is

(A)  7hbar (B) 21 bar
(C) 28bar (D) 35bar
Gamenrl_ et Crmeol_ () Gpmepd Gilmat 750 (plate 4) Ceuanaw QFiw 2 HHS (PSSO
A Turm B) 21 unm
(©) 28 unmm D) 35 unmm

029/DM/18 8



26.

27.

28.

29.

In the hand controlled branch Gilmat 750(plate 4) angle of spray is

(A) 90 degrees (B) 120 degrees

(C) 150 degrees (D) 170 degrees

Canenrl_ serCpmeol (5 Gymepd Gilmat 750 (plate 4)—en B QgeflssiiL(Bb Carant 6ra
A) 90 &M B) 120 g Hf

(C) 150 &M (D) 170 M

Which is not correct?

(A)  Monitor are used in circumstance where large quantity of water are required
(B)  Portable monitors are designed to stand on the ground

(C)  Fixed monitors are permanently fitted to appliances

(D)  Fixed monitors are temporarily fitted to appliances

SAUDTATG| 6TGI?

A) ofls earelle samantt CaameuliLBb @pHlaasaicn wreaflll LT uweau@ssriLbhdpg
B)  Gurmliyer wrafllLi sarulléd Fmsgib euamasuile eulgelamnssiLl (HeTerg

(C)  Bleveowmen wraflll L a6 BlIHSTLONS 2 LISTenThis@hL 6 @) anenmdsLL (HeTerg

(D)  Bleveowmen wreflll L &6 HETESLONS 2 LIGTenT ks @hL 6T @) enandsLiLL (NeTerg)

Normal operational maximal pressure of hose reel branches are

(A)  25-30 bar (B) 5-10 bar

(C) 10-15bar (D) 40-50 bar
angmyent Ceuaneouldler GLImg) gpe Fev rrepdsatien FsULSF 4 (PSSLD
(A)  25-30 unmr B) 5-10 unr

(C) 10-15 unmm (D) 40-50 umm

Which is not correct?

(A)  Stand pipe is used to extend the outlet of the hydrant above the ground level

(B) A collecting head consists of a metal costing, usually made of an aluminum alloy

(C)  Two types of suction strainer used by brigades are metal strainer and basket strainer

(D)  Collecting breeching normally have one inlets, two outlets

SUDTEIG| 6TG|?

A)  owGLerr euls  eretug  eapl (e —er  CeueflCummd  uEdH  sorsE  Cued
@eeamssliLL_(heTerg

B) sCQwsgn Qanl eerug s@idleaflu 2 Gons saameuwimed GEiwutiul L 2 Cams eumTLLLD

(C) =2Coms eugslly wLOHYD oL eagslly BdHu  @QrarOhn  SwearCuTTseTTD
LweTU(HSSUUMID @ rearr(h 6llg&Hl g &eT

D)  sQesgm rrers snsmreanons 1 @entleal, 2 @ertlal CgmeTg

9 029/DM/18
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30. Match the following :

(a) Suction hose adopters 1. Instantaneous outlets and inlets on pumps

(b) TL Control valve 2. The hose is used for road cross the road

(c) Hose Ramps 3.  Carry out water pressure test

(d) Blank caps 4.  Quickly release water from the monitor hose line
(@) (b) (© (d)

A 3 4 2 1

B 4 2 1 3

© 1 2 3 4

D) 2 4 1 3

QUTHSSIS.

(@) FdHager g LML 1. ubber Cuoe 2 6rer @eanblel” wHmid ey Glel

(b) TL e _Grméy cumedey 2. Brel@ymi sreoe sL&& Liwear(Hb

()  eav CribLy 3. B oipssb Carganer Gopblamerer

(d) Qermms Cais 4. eflevgeuns wredl L @ruledmHg saantm 68 (Helss
(@) (b) (©) (d)

A 3 4 2 1

B 4 2 1 3

© 1 2 3 4

D) 2 4 1 3

31. What is the normal working pressure of Fire Hydrant?

(A)  7bar (B) 10 bar

(C) 2bar (D) 15 Dbar

o oLIIT en@m el g6 Frmafl (PSS ereueleTa] @)(H&e: CeuemT(hib?

A Tunm B) 10 umr

©)  2unmm D) 15 unmm

32. Where the sluice valves are being used?
(A)  Fire Hydrant (B) Fire Station
(C)  Fire Tender (D) Hose Reel

svgrellan eUTE6 6@ LiLeTUHSSLUILIHSH DG ?

(A)
©)

029/DM/18

oo LIWIT epaUDLFeoTL

SwenentiL] serd)

B)  Swenantliy Hleneowild

(D) e ffed
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33.

34.

35.

36.

Commonly what type of pump is used in fire service?

(A)  Force pump (B) Lift pump
(C) Centrifugal pump (D) Ejector pump
SwenentliLg glenpuiled Qumgiaims LweT(HLb UL 6rg)?

A  SGumrev LibL B) &Sl uibl

(C)  Qeamgfi9use bl D) Qs bl

What is the normal working pressure of fire pump?

(A) 10 bar (B) 12 Dbar
(C)  T7har (D) 15 bar
oW LibGler gymafl =SS eremen?

(A) 10 unmm B) 12 unmm
C) Tunmm (D) 15 umm

What is multistage pump?

(A) A pump having high pressure

(B) A pump having more output capacity

(C) A pump having with two or more impeller

D) (&), (B)and (C)

edlg 6VGL_SY LIDL| GTETMITE) 6TEITET?

(A) LLDL| 4F)& DI(1pSSLD Cl&menTiq (HLILIS

B)  uby odls QeualCupmid Fmeir ClamemTiq (HLILIS

(C)  uby @ream(® (<) ASHE Cpul L @bLeTEmeT ClETaTiy (HLILg)
D) A), B) wpmyibd (C)

Why regenerative pumps are used?

(A)  To create more pressure

(B) To create more output

(C)  Both (A) and (B)

(D)  To create more input

eem M@erCriiigeu LibL LwetU(H&SIL B mGI?
A) 95 AWPSEE5MS 2 (HeUTES

B) <dls QauaflCupm Hnener o (Haurss

©  (A) wpmi> (B) @rein(id

D)  <=ds 2 dmetf® Hpamern 2 (Heurés

11
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37. Where the thermal relief valve is available?

(A)  Fire Extinguisher (B) Centrifugal pump

(C) PTO (D) (A), (B) and (C)

Qamoed Medlll eumebel 6TMmIE, 2 emerg;) ?

Q)  Swevamrliuimenn (B) QeernigMily,se LbL

(C) PTO D) (@A), (B) wpmid (C)
38. Compound gauge are used to measure

(A)  Pressure (B) Vacuum

(C)  Pressure and vacuum (D) Non pressure

smibUe|ar Csg eTens jerell (HdHmg)?
A) Siwssb (B) QeupMiib
C)  @issbd bHmb QeupdlLib D)  <iWwssb Sld0TH

39. Why the high pressure gauge is used?
(A) To measure the delivery pressure of the pump
(B)  To measure the hose reel pressure of the pump
(C)  To measure the output pressure of the pump
D) (@A) and (C)
THHEHTEH 2 WM A (PSsonei LwerHSSIUOS S ?
@A) B QeueflCuhmIbd Si(PS5s SieTanel SeTULISDE
B) e Tallal D(PSFS5MS D|aTdHS
(© B ahpid Sis Siereas SieTILSHE
D) A) wogid (C)

40. Which one of the priming system is used in centrifugal fire pump?
(A)  Reciprocating (B) Exhaust
(C) Water ring D) @A), B) and (C)
ThS euanswimer WengLilm SevL b Gaear g MiGuyse Lbld LweruBSsLhEDg?
A)  QrayCrrCsaL_igm B) erssTELL
() ROV, /N g Y D) (A), (B) wopmb (C)

029/DM/18 12



41.

42.

43.

44.

45.

Which is the distance between hook ladder toe pieces and wall?

(A) 75 mm (B) 1 meter

© o (D) 50 mm
Qarsdl ganflulen Toe LESHEEW FeuPNISEL QLG 2 drer GFTanae]
A) 7588 B) 18

€ 0 (D) 5088

Which line is used to hosting a ladder?

(A) Bowline on the bight (B) Running bowline
(C) Bowline (D) Guy line
ganfludlenar CoGe FIsEauSNH @ LWaTLI(HILD (Plg.&8 6Tg)?

A)  Gumenavenr <6 & el B) pevefm Cumeneven
(C) Cumenever D) ewsw emevanr

Turntable ladders have automatic safety devices. Which is not included?

(A) Intermediate stops (B) Impact stops

(C)  Control interlocks (D) Rescue gear

TS LG HLpa eramtlufler automatic safety devices smellenw gniibsg) icbaw?
A) @ermdligCuil evLmien B) GwGusL evLmlien
(C) s Grréd Gerimems D) By Huwr

A Turntable ladder needs a —————— surface.

(A)  Fillet surface (B) Solid surface

(C) Tabulated surface (D) Non solid surface
&Lpeb Coeng eremtl Gouaney GFieusHE ———— Cunurliy Cseau.

Q) Sleel Gopuirliy (B) dlLwrer Cupuiriiy
(C) CryGel L Cupuiriiy (D)  Swpw Copuriiyy

The Turntable ladder can rotate endlessly through

A 160° (B) 180°
(C)  360° (D) 90°
&L Cloens eremt] eThg |6Te &S, HLPEYILD?
A 160° (B) 180°
(C) 360° (D) 90°
13 029/DM/18
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46. In turntable ladder, which button is must be kept depressed to maintain the oil pressure and
keep the ladder operative?

(A) Dead man’s button (B) Safe load indicator
(C)  Automatic lever return (D) B) and (C)
spoGuoas  geanfluded, erhy UlLer uiled ugmofliy wHmL  gatublar CFwOUTHSHEREE
vwetU®SSIUOSH DS ?
(A) QL Guwemen LIL_L e B) Co’els Coom(n @evrig CaL L
(C) <o CLrCoigs edeurm ML e (D) (B) wpmd (C)
47. In turntable ladder, full extension of the ladder is possible while it is
(A)  Vertical (B) Vertical and Horizontal
(C)  Horizontal (D) Not possible
& Cas ganfluflener erliGumpg apperowirs B (pigujb?
A) QshEssrs (B) Qomi@gg womib fepol L iors
(C) dev il Lioms (D)  srsHwid Qevanew

48. In turntable ladder, which is prevent the ladder dropping back?
(A)  Hydraulic controlled non-return valve
(B)  Safe load indicator
(C)  Non Hydraulic controlled non-return valve
(D)  (A) and (B)
LG erantludley, eThg S(medl erantl e mLd eSILMDE ST @D ?
A)  eanlgralls ser_Grme®H pren L e cumeey
B)  Call Coom(p) Gevrig CaHLLiT
(C)  mme evanl_gradlé ser_Crmed(h Hres ML Leir cumeday

D) (@A) wpgd (B)

49. Three types of Simon hydraulic platform models are

(A)  SS220, 55263, SS300 (B) SS200, SS300, S5400
(C)  S85220, 55230, SS240 (D) SS100, SS150, SS200
an L [medl& T oo LITTLD- 63T (LPEIT) GUEHSSHET WITEnE?

(A)  SS220, 55263, SS300 (B) SS200, SS300, S5400
(C)  S85220, 55230, SS240 (D) SS100, SS150, SS200

029/DM/18 14



50.

51.

52.

53.

54.

What is Simon hydraulic platform jack extension?

(A) 20mto4.0m B) 2.45mto4.9m
(C) 3.35mto4.9m D) 2.25mto5.0m
OFLOET AL Tmeld NG e LIMTD-6ir 3mé B iq 1L eTelGUGTE,?

A) 20mto4.0m B) 2.45mto4.9m
(C) 335mto4.9m D) 2.25mtob50m

How much of high pressure air is reduced by a reducing valve?

(A) 6and 10 bar (B) 1and1.1bar
(C) 20 and 40 bar (D) 40 and 80 bar
QTiquLF Bl QUTEGINETITED, CTEUGLETE 2 WIT (PSS HTHM G MG ?

A) 6 wpmd 10 wmr B) 1 womwb 1.1 uni
(C) 20 womb 40 (D) 40 wpmid 80 LT

Which of the following is a part of face mask in breathing apparatus?

(A)  Cylinder (B) Speech diaphragm
(C)  Waist belt (D) Pressure gauge
Yemeu(meuareuhiled Heums smedlulled (paepiquiler e LGS LTS 2 dteang) 618 ?
A) AT B) wiF L wmirD

©)  QhuyQuel D) sisswre

Which of the following in not a part of breathing apparatus?

(A)  Butterfly valve (B) Face mask

(C)  Speech diaphragm (D) Warning whistle
Wemeu(meuaralmdled seunss smaelludlen LGHwims @Qeansg) erg?

A)  ulLmbyFs eumeday B ws ey

C)  evlS&F ewLwimligd D) erssMsens el

What is the expansion form of PPM?

(A)  Parts Per Millennium (B) Parts Perfect Million
(C)  Parts Per Million (D) Parts Perfect Millennium
PPM erermuigen edlfleungsid eremme?
(A)  Parts Per Millennium (B) Parts Perfect Million
(C)  Parts Per Million (D) Parts Perfect Millennium
15 029/DM/18
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55. In breathing apparatus low pressure supply hose is constructed by which of the following

material?
(A)  Iron (B) Copper
(©) Gold (D) Polypropylene-braided rubber
goursds SNl  GFGMDHS SWPSHD QUPEISD GLTU  EpSTamid  ehs  QUTBET  epevld
Qewtiu@Gpg?
A)  Q@mby B) sTour
(C) smsbd D)  urdLGrTLNedesr LMFepLIL FlLT
56. In breathing apparatus when was the whistle gives a constant high pitched warning sound?

(A)  Less than 1/2 lit/min of air

(B)  Less than 2 lit/min of air

(C)  Less than 1/4 lit/min of air

(D)  Less than 10 lit/min of air

Feungs smedludle erlClumpg Hlepewins 2 wimhs erelled erésflEams edlenu er(pLIL&Img)?
(A) arom 1/2 &8/ Hl-5@ @eneirs @m&éEn Gung

B)  smom 2 &/ Bl-5E Gomairs Qms@n Cug)

C) smhm 1/4 0/H-&@ Gomeuns @) meEEwn Cung

D)  smom 10 &/ H-5@ Gedneairs Q@m&EEL Gung

57. What is the molecular formula for water?
A 0O (B) H:2:0
(C) OzH D) H:
&EHTG (HESSHTET PLPOEFa D) ESSH TLD GTErT6n?
A 0O (B) H:20
© O:2H D) Ho

58. In breathing apparatus through which valve the air will be expelled to atmosphere?

(A)  Inhalation valve (B) Demand valve

(C) Bypass valve (D) Exhalation valve

FeUgs HHedule 6Thg euTaey eped sTHM euaflbersdld CeuelCubmiiLHSns?
Q)  edmeflpseEd eurday (B) Gsemeu aumebay

(C)  sLbBE QFeoraid aumeay (D) Qeuaflali(Hb curcvay]
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Which one of the following is not correct for carried out breathing apparatus test?
(A)  Should record the date and time of each test carried out on the apparatus

(B)  Should record any defects found in the apparatus

(C)  Should record any repairs or adjustments carried out

D) (A, B) and (C)

Feungs smelluflen Camsanar Gopbsreareriiul L gmH@E Wemeumd erg) sflwimerg)?

(A) ep&as smeilluller g Cargamar BLGsL 1L L preT wpmibd Cadl Lide| Qewiu Ceuemm(Hbd
B)  epsss smeiluder sraiLi(Hib @Gampurhisamer Ldley Glaliwu Geuemr(hibd

(C)  ereualigmer Lpg FNGFLWLILILL g eTeruens Ldey Qe GCouamr(hib

D) @A), (B) wpmid (C)

Whichone of the following is not a routine maintenance of breathing apparatus set?
(A)  After use the apparatus should be cleaned

(B)  The face mask should be washed and disinfected

(C)  The visor should be anti-dimmed

(D) If the cylinder pressure is less than 80% of the maximum charging pressure, the

cylinder should not be replaced by a fully-charged one
Yemeumeuareummled 6T Heuras &medl ienolilbler eulpssiomen LIFMOMLIL jee?
A) vwerumiyH@ 9nE QubSrsams &550 Qe Geuer(Hibd
B)  wsepiy smed Hmilser BésliuL CouamhHib
(C)  GametulenL erdliiL BSOS @) (HdHe Geuahr(Hibd

D)  fsuuqurer srradled oi(pssD 80%-&@E GamaeuTs @b HelemL_anr (LP(LHELDUINS ST
Qediw (piguimg

What is latent heat of vaporisation of water?

(A) 5260 kd/kg (B) 4260 kd/kg
(C) 3260 kd/kg (D) 2260 kd/kg
B <y eillurgadler o aroenn GeuliLib ereen?
A) 5260 kd/kg (B) 4260 kd/kg
(C) 3260 kd/kg (D) 2260 kd/kg
17 029/DM/18
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62. Water cannot mix with which of the following?

(A)  Salt water (B) Petroleum oil
(C)  Sugarcane water D) (A) and (B)
Getreu(meuemeum e eréled B Hevde (Lpigwimg)?
A) =iy gn B)  QuL_CrmeSlwib eresr©leuori
©  smou D) (A) wppid (B)
63.  Which effect is used in foam installation?
(A) Venturi (B) Ohm
(C) Faraday (D) Doplar
eThg eflenarey mieny Hlmieuadler LwaTLHSSLILIHS DE?
A)  Qeuera B) @b
©)  SumpGL D) Crrmieor
64. Foam solution is a mixing of which of the following?

(A) Foam and Water
(B) Foam and salt water

(C)  Foam concentration and Water

(D) Water only

BlenT eTemLg) Llemel (heuameumhled eTHem Saenal?
A)  mer LOHMLD SewTent

B)  meor wpmid 2 Uiy Bif

(©)  meoy sy wpmid seimanti

(D)  saiweti U Gb

65. Whichof the following ratio is for high expansion foam?
(A) 20 to 200 volumes (B) 120 to 1200 volumes
(C) 10 to 20 volumes (D) 5 to 10 volumes
Yemeu(mLd eThs &b fls ellfleunss manysE o flwg)?
A) 20 @psed 200 eumedyLd (B) 120 @psev 1200 cumévuyld
(C) 10 s 20 euméouyld (D) 5 s 10 cumedy b
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66.

67.

68.

69.

Hydrant outlet sometimes known as which of the following name?

(A)  Pressure Valve (B) Landing Valve

(C)  Butterfly Valve (D) Bypass Valve

amanLl e e el Heo Crrmsafla ereud erbg GlLwMe muti@Géng:?
Q) SiWss umeay B) Ceoarigis cumeray

(C)  ulLmbyss eureday D)  ewuLmev cuTE]

What is the nature of smoke?

(A)  Solid (B) Liquid

(C)  Gaseous (D) @@B)and (C)
Lensudle SeitenLo 6Teumen?

@A) o B)  dreud

©)  eumy D) (B) wpmiwd (C)

What is sand lime?

(A)  Calcium Carbonate (B) Calcium Chloride
(C)  Calcium Silicate (D) Magnesium Silicate
Caemm_ enevLd GTGITLIG) GTEITE?

A srodlwd srruGer B) srofwd GCarmeny(H
(C)  srdlwb H&CsL D) wsatHwub HalsCsL

Fire doors provided for the following purpose
(A)  Smoke control

(B)  Easy evacuation

(C)  Flame control

(D)  Fire fighting

ol GLmire - e Lwierm()

A yos s HULES8I5

B)  erafidle QeuelCum

C)  §asLors OuuBsSgsD

(D) Sow Smenss

19
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70. Which metal has very rapid loss of strength is

(A)  Steel (B) Copper

(C) Castiron (D) Aluminum
Epsarreupdled eraflled Laaiamnoamujb 2 Carsbd erg)?

(A)  evee B) smaum

C) @by sy D)  <gislaiun

71. Which of the following construction has been classified as Type-II1?

(A) 1 hour fire resistance

(B) 2 hour fire resistance

(C) 3 hour fire resistance

(D) 4 hour fire resistance

Epasar_supdle Type-III s 191 1b euengenw FTIHSE T8 ?

A) 1 wafll Crrb & sriiEd Sner

B) 2wl Cprb § sri@d Hper

(C) 3 wanfll Cryb & srriEd Smer

(D) 4 wenfl Cprb § srEiEGD Hmen

72. Which of the following construction has been classified as Type-IV?

(A) 1 hour fire resistance

(B) 2 hour fire resistance

(C) 3 hour fire resistance

(D) 4 hour fire resistance

Epasar_cupdle Type-1V sliqL 1b cuengenw FTTHSS 6181 ?

A) 1wl Cryb & sriiEd Sner

B) 2wl Cprb § srii@d Hper

(C) 3 wanfll Cryb & srriEd Smer

D) 4 wafl Cpyd & G Hme

73. What is the melting point of lead?

A)  227°C (B) 317°C
(C) 327°C (D) 417°C
srfwgdlen o m@Hlene ereimen?

A  227°C (B) 317°C
(C) 327°C (D) 417°C
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4.

75.

76.

1.

Which is heated tends to crack easily?

(A)  Stone B
(C) Glass (D)
Qeutiugdlarmed erafldled SangsasiLHD Clummer 6rg)?
A) s& (B)
(C) seawamrmg (D)
RCC Abbreviation

(A) Real Cement Concrete

(B)  Reinforced Concrete Cell

(C)  Reinforced Cement Concrete

(D) Reinforced Cement Cell

RCC-an eifleumgsid

(A)  Real Cement Concrete

(B)  Reinforced Concrete Cell

(C)  Reinforced Cement Concrete

(D)  Reinforced Cement Cell

Steel

Cast iron

Gr°°°@
QY s

Which metal cause and series burns to the firefighters while working?

A)  Steel (B) Aluminum

(C) Cast Iron (D) Lead and Zinc
SwepanriiLimar Semw e Curg erhg 2 Gansbd s Sssmumismer gHUB SIS ng?
A) TG B) <l

©)  Qmwysns (D) srifwub wHhmb §FSHTEHLD
Which one is a good heat insulator?

(A)  Timber (B) Stone

(C) Glass (D) Metals

QaulILih SLESTE AUITMmET 615 ?

(A)  wgd B) so

©)  sawammy D)  @moy

029/DM/18
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78. What is the resistance time of fire door?

(A)
©)

15 min (B) 20 min
25 min (D) 30 min

Fire door-eir §&5mmi@h Hmer ereer?

(A)
©

15 Al ib (B) 20 flblib
25 Bldlib (D) 30 Flblib

79.  Which is known as a “Camproof’?

(A)
(B)
(©
D)

Close-coupled roofs
Mansard roofs
Trussed roofs

Monitor roofs

CabLienL 66 ienp&HaLILI(HeUS] 6T ?

(A)
(B)
(©)
D)

SCarmev-sLiL96T(H erpLl
WlenseliLp gmeni
T TGN LD WITGT Fo 6T

omefl LT epLl

80. Decking is usually found in

(A)  Monitor roof

(B)  Trussed roof

(C)  Pitched roof

(D)  Flat roof

Qurgleurs QLsdm (Decking) ———— @ st pg.
(A)  refllLiT epL

B)  sirewwrer sy

(C)  smlps smeny

(D)  Qermi emL

029/DM/18
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